HSSC 15t ANNUAL EXAMINATION 2024
Rubrics CHEMISTRY HSSC- Il (D)

FINAL 15-05-2024

Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
Reaction of Dil. Writing correct reaction Partially correct
o : o Wrong answer (0)
HCl with Li,O of Dil. HCl with Li,O (1) response (0.5)
Reaction of Dil. Writing correct reaction Partially correct
. . . Wrong answer (0)
2 (i) HCI with Na,0; of Dil. HCl with Na;0, (1) | response (0.5)
Reaction of Dil. Writing correct reaction Partially correct
. . . Wrong answer (0)
HCI with KO» of Dil. HCl with KO3 (1) response (0.5)
OR

2 (i)

Significance of
Dissolved Oxygen
(DO)

Writing correct
Significance of Dissolved
Oxygen (DO) (1)

Partially correct
response (0.5)

Wrong answer (0)

Significance of
Biochemical
Oxygen Demand
(BOD)

Writing correct
Significance of
Biochemical Oxygen
Demand (BOD) (1)

Partially correct
response (0.5)

Wrong answer (0)

Significance of
Chemical Oxygen
Demand (COD)

Writing correct
Significance of Chemical
Oxygen Demand (COD)

(1)

Partially correct
response (0.5)

Wrong answer (0)

2 (ii)

Role of effective
nuclear charge in
determining the

Writing correct role of
effective nuclear charge
in determining the atomic

Partially correct
response (1)

Any relevant
information (0.5)

Wrong answer (0)




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)

atomic radii of radii of elements in 3rd

elements in 3rd period. (2)

period.

Role of f

o€ o n'umber ° Writing correct role of

electronic shells . .

. . electronic shells in .

in determining the - . Partially correct

. .. determining the atomic Wrong answer (0)
atomic radii of .. Cord response (0.5)
- ard radii of elements in 3

elements in 3" eriod. (1)

period. P '
OR

Justification of

MgCl, is a high Writing correct

melting solid, AICI; | justification of MgCl,is a Partially correct Any relevant Wrong answer (0)
2 (ll) is sublime at 180°C hlgh melting SO“d, AlClz is response (2) information (1) g

and SiCl is a sublime at 180°C and SiCl, is

volatile liquid. a volatile liquid. (3)

Reason/Descriptio | Writing correct

n of alkali metals Reason/Description of Partia”y correct Any relevant

colours to the different colours to the

flame. flame.(3)
OR

Mechanism of the | Writing correct Partially correct Any relevant
2 (iii) | given reaction mechanism in justified response (2) information (1) Wrong answer (0)

2CH3-OH steps. (3)
2 (iv) Preparation of Writing correct Partially correct Wrong answer (0)

BaO

preparation of BaO (1)

response (0.5)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
Show .by Chemical Writing correct Chemical .
equation of when ) . Partially correct
. . equation of when BaO is Wrong answer (0)
BaO is heated in .. response (0.5)
. heated in air.(1)
air.
Show by Chemical | Writing correct show by
equation of when | Chemical equation of .
. ) . Partially correct
resulting product | when resulting product is response (0.5) Wrong answer (0)
is reacted with Dil | reacted with Dil P '
H2S04. H2S04.(1)
OR
Identification of Writing correct
Li f I ificati f Li Partiall
igands o' denti |cat|qn of Ligands artially correct Wrong answer (0)
complex ion of complex ion response (0.5)
(Co enyClL)* (Co enxClo)* (1)
Identification of Writing correct
co-ordination Identification of co- Partiallv correct
2 (iv) | number of ordination number of y Wrong answer (0)
. . . response (0.5)
complex ion complex ion (Co en,Cl)
(Co enxClo)* (1)
Identification of Writing correct
geometrY of identificatign of geometry | Partially correct Wrong answer (0)
complex ion of complex ion response (0.5)
(Co enyCly)* (Co enaCla)* (1)
2 (v) Reaction of V,05 Writing correct reaction Partially correct Wrong answer (0)

with HCI

of V205 with HCI (1)

response (0.5)




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
Reaction of V05 Writing correct reaction Partially correct Wrong answer (0)
with HNOs of V205 with HNO3 (1) response (0.5)
Reaction of V05 Writing correct reaction Partially correct Wrong answer (0)
with SO; of V205 with SO; (1) response (0.5)
OR
Writing any two Writing any one
Differentiation Writing any three correct | correct correct
between atomic Differentiation between Differentiation Differentiation Any relevant Wrong
2 (v) emission and atomic emission and between atomic between atomic . . answer
. . . ) . . information (0.5)
atomic absorption | atomic absorption emission and emission and (0)
spectroscopy spectroscopy (3) atomic absorption atomic absorption
spectroscopy (2) spectroscopy (1)
Procedure of use | Writing correct procedure
of KMnOain redox | of use of KMnQain redox | Partially correct
. . L . . Wrong answer (0)
titration with titration with acidified response (0.5)
acidified FeSO4 FeSO4 (1)
2 (vi Chemical equation
. of use of Kl\(jln04in Writing correct Chemical Partially correct Any relevant
redox titration equation of use of KMnOa4 y ' Y _ Wrong answer (0)
. e in redox titration with response (1) information (0.5)
with acidified acidified FeSO4 (2)
FeSO4
OR
Differentiation Writing correct )
. between Differentiation between Partially correct Any relevant Wrong answer (0)
2(vi) response (2) information (1)

secondary and
tertiary structures

secondary and tertiary
structures of proteins (3)




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
of proteins
Similarities Writing any one
between the Writing any two correct correct similarity
similarities between the | between the Any relevant Wrong answer (0)
members of members of homologous | members of information (0.5)
homologous . .
series series. (2) homologous series.
2(vii) (1)
Diff
lerence Writing any one correct
between the . .
members of difference between the Partially correct Wrong answer (0)
homologous members of homologous | response (0.5) g
. 8 series (1)
series
OR
Description of the | Writing correct )
> (i process of spin Description of the process Partially correct tAny reIe\{ant Wrong answer (0)
(vii) flipping in NMR of spin flipping in NMR response (2) information (1)
spectroscopy spectroscopy (3)
Name and .
drawing of the Writing correct name and Partiall . A | .
. artially correc ny relevan
structure of any drawing of the str.ucture e _ Wrong answer (0)
of any 1t type of isomer response (1) information (0.5)
15t type of isomer
of 1- propanol (1.5)
2(viii) of 1-propanol
Name and .
drawing of the Writing correct name and partiall . A | .
. artially correc ny relevan
structure of any drawing of the strl,!cture e _ Wrong answer (0)
of any 2" type of isomer | fésponse (2) information (0.5)
2" type of isomer of 1- propanol (L5)
of 1- propanol prop '
OR
2(viii) | Any three Writing any three correct | Writing any two Writing any one Any relevant Wrong




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
differences differences between correct differences | correct difference information (0.5) | answer
between SNiand | SNiand SN (3) between SNiand between SNiand (0)
SN, SN (2) SN (1)
, Writing correct Partially correct Any relevant
. Mechanism of the e Wrong answer (0
2 (ix) given reaction mechanism in justified response (2) information (1) & (0)
steps (3)
OR
Product of Writing correct product
reaction of LiAlHs | of reaction of LiAlH4 with | Partially correct Wrong answer (0)
with CH3-CN (1) response (0.5) g
CHs-CN
Product of Writing'correct.produc't
_ reaction of LiAIH, | Of reaction of LiAlHa with | paially correct Wrone an (0)
2(ix) | with CH3COOCzHs (1) response (0.5) rong answer
CH3COOC;Hs
Product of Writing correct product
reaction of LiAlH, | Of reaction of LiAlH, with Partially correct Wrong answer (0)
with CH3CONH; CH3CONH: (1) response (0.5) g
Kinetic evidence Writing correct Kinetics Partially correct Any relevant
2 (x) mechanism. (1.5)
Stereo chemical Writing correct Stereo Partially correct Any relevant
evidence of SN2 chemical evidence of SN2 | response (1) information (0.5) Wrong answer (0)
mechanism. mechanism.(1.5)
OR
oy . o, oy . Wron
2 (x) Any three adverse | Writing any three correct | Writing any two Writing any one Any relevant g
effects of adverse effects of correct adverse correct adverse answer




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
dissolved dissolved fertilizers effects of dissolved | effect of dissolved information (0.5) | (0)
fertilizers present | present in water as fertilizers present in | fertilizers present in
in water as pollutants (3) water as pollutants | water as pollutants
pollutants (2) (1)
Reaction of Writing correct reaction Partially correct
CH3-CH2-NHawith | of CH3-CH2-NHwith Wrong answer (0)
Acetyl chloride Acetyl chloride (1) response (0.5)
Reaction of Writing correct reaction Partially correct
2 (xi) CH3-CH2-NHz with | of CH3-CH2-NHwith response (0.5) Wrong answer (0)
Acetaldehyde Acetaldehyde (1) '
Reaction of Writing correct reaction Partially correct
CH3-CH2-NHz with | of CH3-CH2-NHwith Wrong answer (0)
HNO,/HCl HNO,/HCI (1) response (0.5)
OR
Description of the .
structlfral ertlr?g Forrect Partially correct Any relevant
2 (xi) | components of Description of the res ; : Wrong answer (0)
) structural components of ponse (2) information (1)
nucleotides of nucleotides of RNA (3)
RNA
Preparation of Writing correct )
Dimethyl ether by | Preparation of Dimethyl Partially correct tAny reIeYant Wrong answer (0)
Williamson’s ether by Williamson’s response (1) information (0.5)
synthesis synthesis (1.5)
2 (xii)

Preparation of
Dimethyl ether
from an alkyl
halide

Writing correct
Preparation of Dimethyl
ether from an alkyl halide
(1.5)

Partially correct
response (1)

Any relevant
information (0.5)

Wrong answer (0)

OR




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
Preparation of Writing correct .
. . . Partially correct
propanoic acid preparation of propanoic response (0.5) Wrong answer (0)
from a Nitrile acid from a Nitrile (1) P '
Preparation of Writing correct
.. | propanoic acid preparation of propanoic | Partially correct
2 (il from a Grignard’s | acid from a Grignard’s response (0.5) Wrong answer (0)
reagent. reagent.(1)
Preparation of Writing correct .
. . . Partially correct
propanoic acid preparation of propanoic response (0.5) Wrong answer (0)
from an Aldehyde | acid from an Aldehyde (1) P '
Reaction of 1- Writing correct Reaction Partially correct
propanol with of 1-propanol with SOCl; y Wrong answer (0)
response (0.5)
SOCl; (1)
Reaction of 1- Writing correct reaction Partially correct
2 (xiii) | propanol with of 1-propanol with res onZe (0.5) Wrong answer (0)
Conc.H2504/180°C | Conc.H2S04/180°C (1) P '
Reaction of 1- Writing correct reaction .
. . Partially correct
propanol with of 1-propanol with response (0.5) Wrong answer (0)
K2Cra07/ H2SOs | KoCraO7/ H2S04 (1) P '
OR
Composition and Writing correct
uses of fraction of | composition and uses of | partially correct Any relevant
petroleum fraction of petroleum response (1) information (0.5) Wrong answer (0)
refining of refining of
. i . i 1.
2 (xii) a. gasoline a. gasoline (1.5)

Composition and
uses of fraction of
petroleum
refining of

b. Naphtha

Writing correct
composition and uses of
fraction of petroleum
refining of

b. Naphtha (1.5)

Partially correct
response (1)

Any relevant
information (0.5)

Wrong answer (0)




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
:nylré:ttion of Writing any first correct )
. Pdp ) o application of iodoform Partially correct tAny reIe\{ant Wrong answer (0)
lodotorm tes test with chemical response (1) information (0.5)
with chemical .
. equation(1.5)
. equation
2(xiv)
Any second .
application of Writing Any second )
' pdp ) correct application of Partially correct .Any reIeYant Wrong answer (0)
lodoform test iodoform test with response (1) information (0.5)
with chemical . .
. chemical equation (1.5)
equation
OR
Determination of
empirical formula
of 0.240g of an
. organic | Determining the correct Partially correct tAny rele\{ant Wrong answer (0)
(xiv) compoun empirical formula (3) response (2) information (1)
contain 0.096gof
carbon, 0.016g of
hydrogen and
0.128g of oxygen
Description of Wr|t|r.1g Forrect Partially correct
description of resonance Wrong answer (0)
resonance (1) response (0.5)
Q.3

Description of
resonance energy

Writing correct
description of resonance
energy(2)

Writing partially
correct description
of resonance
energy(1)

Any relevant
information
(0.5)

Wrong answer (0)




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
Writi Writi
Calculation of Writing three correct riting two corr_ect riting one cor.rect
. steps of calculation | step of calculation
resonance energy | steps of calculation of Any relevant Wrong
. . of resonance of resonance . .
with the help of resonance energy with . . information answer
energy with the energy with the
heat of the help of heat of (2) (0)
hydrogenation hydrogenation(4) help of heat of help of heat of
yarog yarog hydrogenation(3) hydrogenation(2)
OR
Description of Wr|t|r.1g Forrect Writing partrc.llly.
olvmerization description of correct description | Wrong answer (0)
poly polymerization (1) (0.5)
Types of Writing two correct types Writing one correct .Any rele\{ant
olymerizations of polymerizations (2) type of information Wrong answer (0)
poly poly polymerization (1) (0.5)
Writing partially
Q.3 Description 1t Writing correct correct description | Any relevant
type with description of 1t type of 1t type with information Wrong answer (0)
chemical equation | with chemical equation(2) | chemical (0.5)
equation(1)
. Writing partially
- d Writing correct o
Description 2" . d correct description | Any relevant
. description of 2" type d . . .
type with ) . ) of 2" type with information Wrong answer (0)
. . with chemical equation .
chemical equation chemical (0.5)
(2) :
equation(1)
Description of | (IR ogens | correct deserption
Q.4 halogens acting as P & P Wrong answer (0)

oxidizing agent

acting as oxidizing agent

(1)

of halogens act as
oxidizing agent (0.5)




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
. Writing correct Wr|t|r_1g f:orrect
Representation of o description of
description of .
halogen as ) representation of Wrong answer (0)
e representation of halogen e
oxidizing property as oxidizing property(1) halogen as oxidizing
g property property(0.5)
Writing correct Order of Writing partially
Order of relative relative power of halogen | correct Order of
power of halogen | as oxidizing agent (1) relative power of Wrong answer (0)
as oxidizing agent halogen as oxidizing
agent (0.5)
Writing two correct | Writing one correct
Verification of Writing three correct verification of order | verification of order
- e e e Any relevant Wrong
order of oxidizing | verification of order of of oxidizing agent of oxidizing agent . .
e information answer
agent halogen by | oxidizing agent halogen halogen by halogen by (0.5) (0)
chemical equation | by chemical equation(3) chemical chemical ’
equation(2) equation(1)
OR
Writi iall
Chemical reaction | Writing correct Chemical riting partla. y
. correct Chemical Any relevant
of acetaldehyde reaction of acetaldehyde . . .
. . reaction of information Wrong answer (0)
with with acetaldehyde with (0.5)
o 2,4 DNPH 2,4 DNPH (1.5) 2.4 DNPH (1)

Chemical reaction
of acetone with
2,4 DNPH

Writing correct Chemical
reaction of acetone with

2,4 DNPH (1.5)

Writing partially
correct Chemical
reaction of acetone
with

2,4 DNPH (1)

Any relevant
information
(0.5)

Wrong answer (0)




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
Chemical reaction | Writing correct Chemical Writing partla'IIy
. correct Chemical Any relevant
of acetaldehyde reaction of acetaldehyde . . .
. . reaction of information Wrong answer (0)
with with acetaldehyde with (0.5)
NH,NHCONH; NH2NHCONH; (1.5) NHNHCONH; (1)
Writing partially
Chemical reaction | Writing correct Chemical | correct Chemical Any relevant
of acetone with reaction of acetone with | reaction of acetone | information Wrong answer (0)
NH2NHCONH; NH2NHCONH; (1.5) with (0.5)
NH,NHCONH; (1)
Description of Writing correct Writing partially
trends of description of trends of correct description.
. e . Any relevant
a. ionization ionization potential of (2) information Wrong answer (0)
potential of element of 3" period (3) g
rd (1)
element of 3
period
Q.. Description of Writing correct Writing partially
trends of Description of trends of correct description.
b. melting point melting point and boiling | (2) Any rele\{ant
and boiling point | Point of element of 3rd information Wrong answer (0)
; 1
of element of 3@ | Period (3) (1)
period
OR
Preparation of Writing correct partiall ‘ A | ¢
Preparation of phenol artially correc ny refevan W 0
Q5. phenol from response (1) information (0.5) rong answer (0)

chlorobenzene

from
chlorobenzene (2)




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)

Preparation of Writing correct )

phenol from Preparation of phenol Partially correct Any reIeYant Wrong answer (0)

cumene from cumene (2) response (1) information (0.5)

Preparation of \;\/riting c.orrec:ct henol Partially correct Any relevant

phenol from frrct)e:]aratlon orphene response (1) information (0.5) Wrong answer (0)

Aniline Aniline (2)

Description of Writing correct Partially correct

directive influence | Description of directive response (0.5) Wrong answer (0)

of substitution of | influence of substitution

benzene ring of benzene ring(1)

Classification of Writing correct Partially correct

substituent on the | Classification of response (1) Any rele\{ant

. o . . information Wrong answer (0)

Q. basis of directive | substituent on the basis (0.5)

influence

of directive influence (2)

Example of 1%
Type of directive
influence with
chemical reaction

Writing correct 1%
example of directive
influence with chemical
reaction (2)

Writing partially
correct 15t example
of directive
influence with
chemical reaction

(1)

Any relevant
information
(0.5)

Wrong answer (0)

Example of 2™
type of directive
influence with
chemical reaction

Writing correct 2n9t
example of directive
influence with chemical
reaction (2)

Writing partially
correct 2" example
of directive
influence with
chemical reaction

(1)

Any relevant
information
(0.5)

Wrong answer (0)

OR




Q.#t/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 (Marks) Level 5 Level 6 Level 7
Part # (Marks) | (Marks) | (Marks)
Partially correct
response (0.5)
. Writing correct
D fIR
. e:;gzlcoon © Description of IR Wrong answer (0)
P Py spectroscopy (1)
Discuss with Partially colrrect
reference to Writing correct response (1) Any relevant
a. Reason forthe | Reason for the absorption information Wrong answer (0)
Q.6 absorption of IR | of IR radiation(2) (0.5)
radiation
Partially correct
Discuss with Writing correct response (1) Any relevant
reference to Discussion of IR spectra information Wrong answer (0)
b. IR spectra (2) (0.5)
Discuss with Partially correct

reference to
c. Application of
IR spectroscopy

Writing correct
Application of IR
spectroscopy(2)

response (1)

Any relevant
information
(0.5)

Wrong answer (0)

Note: All the markers must know the solutions of all the question items of the question paper before starting marking.




HSSC 15t ANNUAL EXAMINATION 2024
Rubrics CHEMISTRY HSSC- Il (B)

FINAL: 09-05-2024

Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
Chemical equation Writing correct equation Partially Correct
a. When LiNOz is when LINOs is heated 1y Wrong answer (0)
equation (0.5)
heated (1)
Chemical equation Writing  correct equation Partially Correct
2 (i) b. When NaNOs is when NaNOs is heated Y Wrong answer (0)
equation (0.5)
heated (1)
Chemical equation Writing  correct equation Partially Correct
c. When Mg(NOz)2 is when Mg(NO3)2 is heated Y Wrong answer (0)
equation (0.5)
heated (1)
OR
Differentiation between
e nclorel SR wrting o
. P P differentiation of Acid Partially Correct
2 (i) compound . : : Wrong answer (0)
) . Halides and Acid Amides response (0.5)
a. Acid Halides
: (1)
and Acid

Amides




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
Differentiation between
the functional group Writing  correct Partially Correct
present in the pairs of | differentiation of Ether and y Wrong answer (0)
response (0.5)
compound Esters (1)
b. Ether and Esters
Differentiation between
:)hrisfggf flr? ?k?el: %r:i;]spof Writing _correct Partially Correct
differentiation of Aldehydes Wrong answer (0)
compound and Ketones (1) response (0.5)
c. Aldehydes and
Ketones
Electronic configuration Writing  correct
of copper and Writing  correct electronic | electronic
. ) : . . Any relevant Wrong
chromium configuration of copper and | configuration of . :
: : information(0.5) answer (0)
. chromium (2) copper or chromium
2 (i)
. )
\c/:igf;?:rAir}g;J"Ormnge Writing correct violation of | Any relevant Wrong answer (0)
P P Aufbau principle (1) information(0.5) 9
OR
Description of Writing partially
geometries of complex | Writing correct description | correct description of
ion with coordination of geometries of complex geometries of
. ) o ) , Any relevant Wrong
number 4 ion with coordination complex ion with information(0.5) answer (0)
number 4 (1.5) coordination number '
4 (1)
2 (i)
Descrlpt!on of Writing correct description Writing partla_lly_
geometries of complex . correct description of
. ) L of geometries of complex :
ion with coordination . . o geometries of Any relevant Wrong
ion with coordination ) : . .
number 6 complex ion with information(0.5) answer (0)

number 6 (1.5)

coordination number
6 1)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
;Q:Jtlae tement of Fajan’s Writing correct statement Partially Correct Wrong answer (0)
of Fajan’s rule (1) statement (0.5) g
2 (it . Writing one correct
C . Writing two correct e
justification of Fajan’'s |. .. ° . o justification of
: justification of Fajan’s rule o : Any relevant Wrong
rule with two examples ; Fajan’s rule with one | . :
with two examples (2) information(0.5) answer (0)
example (1)
OR
Reaction of acetic an " :
hydride with ertl_ng correct Rea_ctlon of Partially Correct
acetic an hydride with H20 . Wrong answer (0)
a. H20 (1) reaction (0.5)
2 (iii)

Reaction of acetic an
hydride with
a. NHs

Writing correct Reaction of
acetic an hydride with NHs

1)

Partially Correct
reaction (0.5)

Wrong answer (0)

Reaction of acetic an
hydride with
b. C2HsOH

Writing correct Reaction of

acetic an hydride with
C2HsOH

1)

Partially Correct
reaction (0.5)

Wrong answer (0)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
Justification of the Writing  correct
restricted rotation Justification of the
about C-C bond in restricted rotation about C- Partially Correct Anv relevant Wron
2 (iv) | 1,2dimethyl cyclo C bond in 1,2dimethyl y ANy re1e g
. . . response (2) information(1) answer (0)
propane is responsible | cyclo propane is
for geometrical responsible for geometrical
isomerism isomerism (3)
OR
. L . Writing one correct
Differentiation of Writing two correct . L
: o differentiation of
Aldehydes and differentiation of Aldehydes
2 (iv) | Ketones by two and Ketones by two Aldehydes and Any rele_vant Wrong
) ) Ketones by one information(1) answer (0)
chemical tests chemical tests (3) .
chemical test (2)
: . . Writing some correct
P o
2 (V) mreot?r?asr(laisrriag?grll\l 1 ?/r:/r:j;nt%iggr;?gt;nechamsm justified steps of the | Any relevant Wrong
J P mechanism information(1) answer (0)
3 )
OR
15t Differentiation Writing correct 15t
between addition and | differentiation between Partially Correctly Wrong answer (0)
condensation addition and condensation | response (0.5) g
polymerization polymerization (1)
2nd Differentiation Writing correct 2nd
2 () between addition and | differentiation between Partially Correctly Wrong answer (0)

condensation
polymerization

addition and condensation
polymerization (1)

response (0.5)

3 Differentiation
between addition and
condensation
polymerization

Writing correct 3
differentiation between
addition and condensation
polymerization(1)

Partially Correctly
response (0.5)

Wrong answer (0)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
Existence of ions Writing correct Existence of Partially Correct
Cr2072 and CrO42in ions Cr2072 and CrO47? in y Wrong answer (0)
e o response(0.5)
2 (vi) equilibrium equilibrium(1)
Inter conversion of Writing correct Inter Partially Correct Anv relevant Wron
Cr2072 and CrO42 at conversion of Cr2072 and res on)s(e (1) infgrmation (0.5) answgr ()
equilibrium Cr0O42 at equilibrium (2) P '
OR
Pﬁstgr!ptlon of enzyme V\f/rltlng correrc:bc.le.zscrlptlon Partially Correct Wrong answer (0)
2 (vi) inhibition of enzyme inhibition (1) response(0.5)
Tvoes of Inhibition Writing correct Types of Partially Correct Any relevant Wrong
yp Inhibition (2) response(1) information (0.5) answer (0)
Preparation of 1- V\f/ritigg tcorrefct prepgra}ion
Butyne from vicinal ot L-bulyne from vicina Partially correct Any relevant Wrong
oo . dihalides by chemical : :
dihalides by chemical . ; o response (1) information (0.5) answer (0)
. : . reaction with condition
| reaction with condition (1.5)
2 (vii) Preparation of 1- v\f/ritigg tcorrefct preparatioln
Butyne from geminal o 1-bulyne irom gemina Partially correct Any relevant Wrong
dihalides by chemical dihalides by chemical response (1) information (0.5) answer (0)
: : . reaction with condition '
reaction with condition
(1.5)
OR
_— " _— Writing partially
Definition of Green Writing correct definition of A
House Effect Green House Effect (1) correct definition (0.5) | Wrong answer (0)
2 (vii)
Description of Green Writing correct description \é\érr':;ncgg gzgté?i"){ion (1) Any relevant Wrong
House Effect of Green House Effect (2) b information (0.5) answer (0)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
Chemical reaction of Writing correct chemical Partially Correct
conc. HNOs with reaction of conc HNO3 with Ay Wrong answer (0)
reaction (0.5)
phenol phenol (1)
Chemical reaction of W”t'r.]g correct Che”."ca' Partially Correct
2 Wiii . reaction of aq Br2 with . Wrong answer (0)
(viii) ag. Brz with phenol reaction (0.5)
phenol (1)
Chemical reaction of Writing correct chemical Partially Correct
conc. H2S04 with reaction of conc. H2SOa4 Ay Wrong answer (0)
i reaction (0.5)
phenol with phenol (1)
OR
Describe the type of Writing correct descrlptlon
: » of the type of electronic
electronic transition for » )
. Ay transition for UV-Vis. .
(i UV-Vis. radiation of S Partially correct Any relevant Wrong
(viit) radiation of 200-800nm . .
200-800nm wavelength response (2) information (1) answer (0)
wavelength are passed
are passed through through
CH2= CH-CHo-OH CHz= CH-CH2-OH (3)
. - Writing1® correct t .
st
2 (ix) 1* Differentiation differentiation between E1 Partially Correctly Wrong answer (0)

between E1 and E2

and E2 (1)

response (0.5)

2nd Differentiation
between E1 and E2

Writing 2" correct
differentiation between E1
and E2 (1)

Partially Correctly
response (0.5)

Wrong answer (0)

31 Differentiation
between E1 and E2

Writing 3" correct
differentiation between E1
and E2 (1)

Partially Correctly
response (0.5)

Wrong answer (0)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
OR
Writing partially Any relevant

Description of Writing correct description | correct response (2) | information(1)

significance of of significance of functional Wron
2 (ix) | functional group region | group region and answgr )

and fingerprint region fingerprint region

in IR spectrum in IR spectrum (3)

Justification of Al(OH)3 \é\f/n/;:(ngljf rirsecz:itr;]lurs]tcl)ftlgfilgon Partially Correct Any relevant Wrong

is amphoteric (1.5) 3 P response (1) information(0.5) answer (0)
2 (x)

Justification of Writing correct Justification | Partially Correct Any relevant Wrong

Mg(OH)2 is basic of Mg(OH): is basic (1.5) response (1) information(0.5) answer (0)
OR

Reaction of Writing correct reaction of .

CHs-CHz-Mg-Br with CHa-CH2-Mg-Br with partially correct Any relevant Wrong

o Acetone Acetone (1.5) reaction (1) information(0.5) answer (0)

2 (%) Reaction of Writing correct reaction of :

CHa-CHo-Mg-Br with | CHs-CHo-Mg-Br with co, | Partially correct Any relevant Wrong

b. CO, (1.5) reaction (1) information(0.5) answer (0)

Description of Writing correct description Writing partiall
2 (xi) anomalous trends in of anomalous trends in the correc% gescri ){ion Any relevant Wrong

the ionization energy of | ionization energy of P information(1) answer (0)

elements of 3" period

elements of 3 period (3)

(2)

OR




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
Reason/description Writing correct
Acetaldehydes is more | reason/description of Writing partially
_ reactive than acetone | Acetaldehydes is more correct Any relevant Wrong
2 (XI) in nUCleophi”C addition reactive than acetone in description/reason information(l) answer (O)
reaction nucleophilic addition 2)
reaction (3)
Two reactions in whigh Writiljg any two correct Writing any one Any relevant
2 xii) O-H bond of alcohol is | reactions in Whl(_:h O-H correct reaction in information Wrong
broken bond of alcohol is broken which O-H bond of (0.5) answer (0)
(2) alcohol is broken (1) '
Reactivity order in the | \writing correct reactivity ol
alcohol in these order in the alcohol in Partially correct Wrong answer (0)
reactions these reactions (1) response (0.5)
OR
Role of Writing correct role of
chlorofluorocarbon in chlorofluorocarbon in the .
N : ) Partially Correct Any relevant Wrong
2(xii) | the destroying the destroying the ozone layer response (2) information(1) answer (0)
ozone layer in the in the stratosphere (3)
stratosphere
Chemical reaction of Writing correct chemical
calcium when heated reaction of calcium when
in air containing Oz and | heated in air containing Oz | Partially correct Any relevant Wrong
N2 result in the and Nz result in the response (1) information(0.5) answer (0)
formation of two formation of two compound
2(xiii) | compound (2)

Chemical reaction of
one of the above two
compounds reacts with
water to form pungent
gas

Writing correct chemical
reaction of one of the
above two compounds
reacts with water to form
pungent gas (1)

Partially correct
response (0.5)

Wrong answer (0)

OR




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
Calculation of relative
atomic mass of
Mg-24 mass=24amu " :
... | Yoabundance=78.70% Wntlng_ correct ;:alculatlon Partially correct Any releyant Wrong
2(xiii) _ of relative atomic mass of . information
Mg-25 mass=25amu Mg (3) calculation (2) (1) answer (0)
%abundance=10.13% 9
Mg-26 mass=26amu
%abundance=11.17%
Conversion of ethene iti i
into \é\]flttlﬂgn?irrr]fgt Conversion Partially_ Correct Any releyant Wrong
a. Ethanol Ethanol (1.5) conversion(1) information(0.5) answer (0)
2(xiv) [ Conversion of ethene Writing  correct
into 9 . Partially Correct Any relevant Wrong
Conversion of ethene into : . .
b. Ethylene : conversion (1) information(0.5) answer (0)
. Ethylene chlorohydrin (1.5)
chlorohydrin
OR
Reaction mechanism of N
aldol condensation of Writing correct mechanism er'q.ng some correct
. acetone oL T justified steps of the | Any relevant Wrong
2(xiv) in justified steps . . .
3) mechanism information(1) answer (0)
2)
" Writing partially
Justification of COz is ert!r!g the correct correct justification
. : Justification of COz is . o Wrong answer (0)
acidic oxide L : of COz is acidic
acidic oxide (1) .
03 oxide (0.5)
o Differentiation of Writing the correct Writing partially Anv relevant
. differentiation of oxides of | correct differentiation | /1Y . Wrong
oxides of Ge, Sn and Ge, Sn and Pb from CO of oxides of Ge, Sn information answer (0)
Pb from CO2 ’ 2 ’ (0.5)

(2)

and Pb from CO2 (1)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
i st
Explanation of any 1 Writing any 1%t correct . Any relevant
chemical reactions for chemical reaction for the Partially correct information Wrong
each in the support of support of answer (2) response (1) (0.5) answer (0)
answer bp ]
i nd
Explanation of any 2 Writing any 2" correct . Any relevant
chemical reactions for chemical reaction for the Partially correct information Wrong
each in the support of support of answer (2) response (1) (0.5) answer (0)
answer bp ]
OR
Description of refining | Writing correct description \é\(/)rri:iencg: gs;tfrli”);ion Wrong answer (0)
of crude oil of refining of crude oil (1) (0.5) P g
Statement of the basic | Writing correct Statement | Writing partially
principle of the crude of the basic principle of the | correct statement Wrong answer (0)
oil crude oil (1) (0.5)
Writing
correct
Writing explana
Q.3. correct tion in
Explanation of the Writing correct explanation Writing correct Writing correct gxplanatlon thg , Any
. ) . . : explanation in the explanation in the in the refining | relevant
steps involve in the in the refining of crude oil - . - . S . Wrong
o - o . o refining of crude oil refining of crude oil | refining of of informa
refining of crude oil in in industry in the justified in ind i th inind i th de oil i d . answer (
industry five steps (5) in industry in the any | in industry in the crude oil in crude tion
four steps (4) any three steps (3) | industry in oil in (0.5)
the any two | industry
steps (2) in the
any one

step (1)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
" . Writing partially
Description of Carbon Writing correct d_e_scrlptlon correct description of | Any relevant
. . of Carbon and silicon . . : Wrong
and silicon showing +4 . S Carbon and silicon information
o showing +4 oxidation state . T answer (0)
oxidation state (1.5) showing +4 oxidation | (0.5)
' state (1)
. o Writing partially
Description of Ge, Sn, \é\{glggscr?r;iﬁ gisgl‘rllg\t\ll(i): correct description of Anv relevant
and Pb show +4 as B howing Ge, Sn, and Pb Any , Wrong
. +4 as well as +2 oxidation : information
Q.4. well as +2 oxidation state in their compound showing +4 as well (0.5) answer (0)
state in their compound (1.5) P as +2 oxidation state '
' in their compound (1)
Writing correct explanation | Writing partially
_ _ of relative stability of +4 correct explanation
Explanation of relative | and +2 of oxidation state in | of relative stability of | Any relevant
stability of +4 and +2 of | Ge, Sn and Pb (1.5) +4 and +2 of information Wrong
oxidation state in Ge, oxidation state in Ge, | (0.5) answer (0)
Sn and Pb Sn and Pb (1)
Writing correct Comparison | Writing partially
_ . of relative stability of +4 correct Comparison
Comparison of relative | and +2 of oxidation state in | of relative stability of Any relevant
stability of +4 and +2 of | Ge, Sn and Pb (1.5) +4 and +2 of information Wrong
oxidation state in Ge, oxidation state in Ge, | (0 .5) answer (0)
Sn and Pb. Sn and Pb (1)
OR
sEt):Ei:atngﬂg? t;)(:nzene Writing correct explanation | Writing partially Anv relevant
) of structure of benzene on | correct explanation ANy . Wrong
Q.4 on the basis of . information
o : the basis of molecular of structure of answer (0)
molecular orbital Q)

concept

orbital concept (3)

benzene on the




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
basis of molecular
orbital concept (2)
Writing partially Anv relevant
Justification of stability | Writing correct Justification | correct Justification ANy . Wrong
- - information
of benzene of stability of benzene (2) of stability of (0.5) answer (0)
benzene (1) '
Reason for the Writing correct reason for
electrophilic the electrophilic Writing partially
substitution reaction in | substitution reaction in correct reason. (0.5) Wrong answer (0)
benzene benzene (1)
Writing partially
. Writing correct preparation | correct preparation
Preparatlon_ of of acetyl chloride from of acetyl chloride Any releyant Wrong
acetyl chloride from : : : : information
. . carboxylic acid (1.5) from carboxylic acid answer (0)
carboxylic acid (1) (0.5)
" : Writing partially
Reaction of CH3sCOCI Writing correct reaction of correct reaction of Any relevant
Q.5. . CHsCOCI with . ; : Wrong
with Acetic acid (1.5) CHsCOCI with information answer (0)
a. Acetic acid ' Acetic acid (1) (0.5)
. : Writing partially
Reaction of CH3sCOCI writing correct reaction of correct reaction of Any relevant
. CH3COCI with . . . Wrong
with Ethanol (1.5) CHsCOCI with information answer (0)
b. Ethanol ' Ethanol (1) (0.5)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
" : Writing partially
Reaction of CH3sCOCI writing correct reaction of correct reaction of Any relevant
. CHsCOCI with . . . Wrong
with NHs (1.5) CH3COCI with information answer (0)
c. NHs A NHs (1) (0.5)
OR
Writing correct description | Writing partially Any relevant Wron
Description of lipids of lipids (1.5) correct description of | information answgr )
lipids (1) (0.5)
Q.5 Writing correct Writing partially
o Differentiation between | differentiation between correct differentiation | Any relevant Wron
essential and Non- essential and Non- between essential information answgr )
essential lipids essential lipids (1.5) and Non-essential (0.5)
lipids (1)
Writing correct reaction of Writing partially Any relevant
Reaction of hydrolysis gc : : correct reaction of Any reter Wrong
. . hydrolysis of triglyceride ) information
of triglyceride hydrolysis of answer (0)
(1.5) . . (0.5)
triglyceride (1)
Reaction of Writing correct reaction of | Writing partle_llly Any relevant
e saponification of correct reaction of . . Wrong
saponification of . . e information
: ) triglyceride (1.5) saponification of answer (0)
triglyceride : ) (0.5)
triglyceride (1)
Explanation of mass Writing correct Explanation | Partially correct
spectrometry of mass spectrometry(1) response  (0.5) | Wrong answer (0)
o Writing correct Basic Partially correct
Basic principle of mass | principle of mass response (0.5 | wrong answer (0)
0.6 spectrometry spectrometry (1)
. Writing correct Writing correct Writing Any
Explanation , . . : : .
. Writing correct explanation | explanation and explanation or partially relevant | Wrong
construction and , : ) ) .
. , construction and working | construction or construction or correct informa | answer
working of mass . . . .
of mass spectrometer (5) working of mass working of mass explanation , | tion (0)
spectrometer )
spectrometer (4) spectrometer (3) construction | (1)




Q.#/ | Criteria Level 1 (Marks) Level 2(Marks) Level 3 (Marks) Level 4 Level 5 | Level 6 |Level7
Part # (Marks) (Marks) | (Marks) | (Marks)
and working
of mass
spectrometer
2
OR
Order of acidic strength ert!ng correct Order of Partially correct
acidic strength of phenol, response (0.5)
of phenol, alcohol and : . Wrong answer (0)
: : alcohol and carboxylic acid
carboxylic acid
)
Partially correct
Justification by pka Writing correct Justification | justification (1) Any releyant Wrong
information
Q.6. values by pka values (2) (0.5) answer (0)
Justification of acidic Writing correct Justification | Partially correct
strength of phenol and | of acidic strength of phenol | justification (1) Any relevant W
. \ ) . . : rong
carboxylic acid on the | and carboxylic acid on the information answer (0)
basis of their conjugate | basis of their conjugate (0.5)
bases bases (2)
Justification of acidic Writing correct Justification Any relevant
strength of phenol and | of acidic strength of phenol | Partially correct information Wrong
alcohol on the basis of | and alcohol on the basis of | justification (1) (0.5) answer (0)

their conjugate bases

their conjugate bases (2)

Note: All the markers must know the solutions of all the question items of the question paper before starting marking.



